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1. For the circuit shown below, find the output voltage Vo and the input resistance Rin seen

by the current source in terms of R.  (20%)
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2. For the circuit shown below, find the value ofio.  (10%)
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3. Find the value of V, in terms of is1 and is for the circuit shown below where R1=1€,
R2=4Q, Ra=4L) and Ra=10€2. (10%) R
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4. Find the input resistance of the circuit shown below. {(10%)

5. Find the average and RMS values of the periodic waveform shown below. (10%)
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6. The switch shown in the circuit below has been open for a long time and is closed at t=0.
1) Find the voltage across the capacitor and the current through the inductor just
before t=0. (5%)
2) Find the inductor currenticfort=0. (5%)
3) Find the capacitor voltage V.for t >0. {5%)
4) Find the current through the switch fort >20. {5%)
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7. The input impedance and the voltage of the voltage source, Vs, in the circuit shown
below are Z:=j20Q and V:=2500£0°V at 377 rad/s respectively. The transformer has
11=2H, L>=0.2H, and M=0.6H. The load impedance is Zi=25+j15Q. Find s, Is, V1, V2 and
the average power delivered by the voltage source. (20%}
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